SESSION 14 TOEFL 2

Unstated meaning/ inferences
By Nargis Tan

In reading passage we can find the answer directly and easily because it’s stated in the passage. In some questions, we must answer the question but it’s not directly provided in the passage. It’s unstated meaning or inferences questions. We must “read between the line” or you must make a conclusions  based indirectly on the information in the passage. 

The inference type can be recognized by the word "infer", or "imply" or "suggest" in the question prompt. Inference means something that is only suggested in the text, it is not something that is directly stated. You need to be able to understand all the concepts in the reading passage and from them be able to logically see what else the author is trying to imply.
Sample question :

Which of the following can be inferred from the passage ?

It can be inferred from the passage that 

Which of the following does the passage imply ?
Which of the following would be the reasonable guess about…….
The author suggest that …….. 
It is probable that …

There will  probably be from five to eight of these questions per reading section.


Example:

Part of a passage: Derived from the penicilium mold, penicillin is one of the most powerful antibacterial agents ever developed. Penicillin and its derivatives have saved countless millions of lives by reducing once lethal infections to the status of minor inconveniences. Countless others have kept limbs that once would have needed amputating to stop the spread of an infection because penicillin stopped that spread in its tracks. The history of the discovery of such a wondrous medicine is long and complicated, but the man who normally gets the credit for discovering it is Alexander Fleming, who published papers on penicillin in 1928. It is well-known that several others, including a French medical student and a Costa Rican scientist, had noted the mold's antibacterial properties prior to Fleming. However, it was Fleming who drew the attention of the Western scientific establishment to the mold, and whose work eventually led to penicillin being developed into a potent medicine.

Question: What can be inferred from paragraph 1?

· A.   Mortality rates from infections are much lower today than they were in the 1920s.
B.   Penicillin has proven very useful but can also have potentially deadly side effects.
C.   Alexander Fleming was disorganized in several aspects of his professional life.
D.   A Costa Rican scientist should really get the credit for first discovering penicillin.

· 
Explanation: (A) is the correct answer. Because penicillin wasn't discovered until 1928, it is logical to assume that people in the 1920s died more often from infections that are now commonly treated by penicillin. (B) is incorrect because paragraph 1 focuses on the discovery of penicillin, not the side effects. (C) is incorrect because Fleming is mentioned in connection with the discovery, not because of his work habits. (D) is incorrect because a French student also recognized the mold's properties, but neither scientist went so far as to share their findings with the scientific community.

The passage:

The Hawaiian language is a melodious language in

which all words are derived from an alphabet of only twelve

letters, the five vowels a, e, i, o, u and the seven consonants h,

Line k, I, m, n, p, w. Each syllable in the language ends in a vowel,

(5) and two consonants never appear together, so vowels have a

much higher frequency in the Hawaiian language than they do in English.

This musical-sounding language can be heard regularly

by visitors to the islands. Most Hawaiians speak English, but it

(10) is quite common to hear English that is liberally spiced with

words and expressions from the traditional language of the

culture. A visitor may be greeted with the expression aloha and

may be referred to as a malihini because he is a newcomer to

the island. The visitor may attend an outside luau where

(15) everyone eats too much and be invited afterwards to dance

the hula.
The question:

Which of the following is probably NOT a Hawaiian word?

(A) mahalo

(B) mahimahi

(C) meklea

(D) moana
This question asks which word is probably NOT a Hawaiian word. To answer this question,

you should refer to the part of the passage where it states that in the Hawaiian language two

consonants never appear together. From this, you can draw the conclusion that answer (C),  meklea, is probably not a Hawaiian word because the consonants K and L / appear together, so

answer (C) is the best answer to this question.
